APSC 380 : INTRODUCTION TO MICROCOMPUTERS
1998/99 WINTER SESSION TERM 2

Solutionsto Assignmen®

Question 1 #def i ne CONTROL 0x181

#def i ne BUSY 0x80
(@) Thevoltagelevelsfor anRS-232interfacemust #defi ne STROBE 0x08

begreatetthat+3V or lessthan-3 V, sothevolt-
agesshavn arevalid. /* Wite ¢ to parallel printer port. */

(b) If onlyonecharactewastransmittedtheperiod voi d cprint(char c)
mustbe the smallestinterval shavn or 0.2 ms {
for a bit rateof about5000bps(probably4800 /* wait until printer not busy */

bps). while ( speek(STATUS) & BUSY ) :
(c) Thefirst positve bit is a startbit. This is fol- i . .
lowedby 7 or 8 databits. Sincethe 8th databit [* put character on data lines */

in the characteiis positive, it cannotbeastop ~ SPoke ( DATA, ¢ )

bit. Eightdatabits musthave beensent. _
/* short pulse on the strobe line */

(d) Thebit valuesarereceved from LS to MS bit. spoke ( CONTROL, 0 ) ;
In this orderthey are: 01001010.In MSto LS spoke ( CONTROL, STROBE ) ;
bit orderthey are01010010whichis hex 0x52 }
whichis theletterR.
[* Print string s on printer. */

Question 2

voi d sprint(char s[])

{

If the DSR pin on the computemeasure§ volts it

. . int i ;
mustbeanoutput.If TxD read9) (aninvalid RS-232 o Lo S
: . . . for (i=0; s[i] ; i++) {
level) it mustbe aninput. SinceDSR is an output cprint ( s[i])
and TxD is aninput for a DCE, the computermust } ’

bewired up asa DCE. For similar reasonghe other }
computemustalsobe wired up asa DCE. The so-
lution would be to usea “null modem”to exchange
the pins assignedo the handshakingand datasig-
nals. A basicnull modemwould connecthe signals
asfollows:
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Question 3

#defi ne DATA 0x180
#def i ne STATUS 0x181
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